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1. Find multiplier if: (a) MPC=0.5 (b) 75% of

increased income is consumed.

Watch Video Solution

2. Find multiplier if (a) 50% of additional

income is saved. (b) MPC=0.25

Watch Video Solution

https://dl.doubtnut.com/l/_i43vAgn9K6bD
https://dl.doubtnut.com/l/_v3vcsyIqfZ9d


Practical Application

3. Find change in income if multiplier is 4 and

increase in investment is 15 crore.

Watch Video Solution

4. Find change in investment if multiplier is 2

and increase in income 8 crore.

Watch Video Solution

https://dl.doubtnut.com/l/_zOzzjXu7E5m9
https://dl.doubtnut.com/l/_LnEG9iBXd1ba
https://dl.doubtnut.com/l/_XMBTnMoN2Pxi


1. Estimate the value of ex-ante AD, when

autonomous investment and consumption

expenditure (A) is 50 crore and MPS is 0.2 and

level of income is 300crore.

View Text Solution

2. An economy is in equilibrium. From the

following data about an economy calculate

autonomous consumption: 

(i) Income=5000 

https://dl.doubtnut.com/l/_XMBTnMoN2Pxi
https://dl.doubtnut.com/l/_ro3YRZzmdL7W


(ii) Marginal Propensity to save=0.2 

(iii) Investment expenditure=800

Watch Video Solution

3. An economy is in equilibrium. From the

following data about an economy investment

expenditure. 

(i) Income=10000 

(ii) Marginal propensity to consumption=0.9 

(ii) Autonomous Consumption = 100

Watch Video Solution

https://dl.doubtnut.com/l/_ro3YRZzmdL7W
https://dl.doubtnut.com/l/_a6iXf2vh6mSW


4. In an economy an increase in investment by

100 crore led to an increase in national income

by 1000 crore. Find MPC.

Watch Video Solution

5. Calculate change in income when MPC=0.8

and change in investment=1000

Watch Video Solution

https://dl.doubtnut.com/l/_a6iXf2vh6mSW
https://dl.doubtnut.com/l/_t9BK8cblosUL
https://dl.doubtnut.com/l/_kWRKJ6uV3syz
https://dl.doubtnut.com/l/_1X4uKkZbgU8d


6. In an economy, investment expenditure is

increased by 700 crore and MPC is 0.9.

Calculate total increase in income and

consumption expenditure

Watch Video Solution

7. As a result of increase in investment by 20

crore, national income increases by 100 crore.

Find the MPC.

Watch Video Solution

https://dl.doubtnut.com/l/_1X4uKkZbgU8d
https://dl.doubtnut.com/l/_OyVey55ZHeCv
https://dl.doubtnut.com/l/_TxIPOmWxrEgY


8. In an economy, investment increases by 240

crore. The value of multiplier is 4. Calculate

MPC.

Watch Video Solution

9. In an economy an increase in investment

leads to an increase in national income three

times more than increase in investment.

Calculate MPC.

Watch Video Solution

https://dl.doubtnut.com/l/_TxIPOmWxrEgY
https://dl.doubtnut.com/l/_QgRWQJ3lOObj


10. Calculate MPC from the following data

about an economy which is in equilibrium:

National income=4000, Investment

expenditure=200, Autonomous consumption

expenditure=400

Watch Video Solution

11. Calculate autonomous consumption

expenditure from the following data about in

an economy which is in equilibiru: National

https://dl.doubtnut.com/l/_QgRWQJ3lOObj
https://dl.doubtnut.com/l/_p8w8KTPaEE0C
https://dl.doubtnut.com/l/_1qkGcjyaoxDW


income=1000, MPS=0.3, Investment

expenditure=200.

Watch Video Solution

12. Calculate investment expenditure from the

following data about an economy which is in

equiilbirum: National income=1000, MPS=0.25,

autonomous consumption expenditure=200.

Watch Video Solution

https://dl.doubtnut.com/l/_1qkGcjyaoxDW
https://dl.doubtnut.com/l/_9FlEDQhqVAGy


13. An increase ₹250 crores in investment in an

economy resulted in total increase in income

of ₹1000 crore. Calculate the following : (a)

MPC (b) Change in savings (c ) Change in

consumption expenditure (d) Value of

multiplier.

Watch Video Solution

14. An economy is in equilibrium. From the

following data, calculate MPS. 

https://dl.doubtnut.com/l/_W2vc7KKB5UJX
https://dl.doubtnut.com/l/_jVmmC8RTQurV


(i) Income=10,000 

(ii) Autonomous consumption =500 

(iii) Consumption expenditure = 8,000

Watch Video Solution

15. Calculate investment expenditure from the

following data about an economy which is in

equilibrium : National Icome = 1000, MPs = 0.2,

Autonomous consumption expenditure = 100

Watch Video Solution

https://dl.doubtnut.com/l/_jVmmC8RTQurV
https://dl.doubtnut.com/l/_GSUvW1m0b6HI
https://dl.doubtnut.com/l/_0Lt1vAUtcIvx


16. In a two-section ecnomy the income and

consuption fuction are as follows: ltbrlt

 


If the investments are ₹ 60 crose, calculate , (a)

Equilbrium level of iccome , (b) level of

consuption at equilbrum, (c) Saving at

equilibrium .

Watch Video Solution

Y = C + 1, C = 40 + 0.75Y

17. In a two sector economy the saving (s) and

investment (I) functions are: 

https://dl.doubtnut.com/l/_0Lt1vAUtcIvx
https://dl.doubtnut.com/l/_OBG4h6PXLmbq


S = - 10 +0.2Y , I = -3+0.1Y 

What will be the equilibrium level of income

(Y)?

Watch Video Solution

18. In an economy S= - 50+50Y is the saving

function and investment expenditure is ₹

7000. Calculate : (i) Equilibrium level of income

(ii) Consumption expenditure at equilibrium

level of national income.

Watch Video Solution

https://dl.doubtnut.com/l/_OBG4h6PXLmbq
https://dl.doubtnut.com/l/_8L4SwARFoU6Y


19. In an economy, investment increases from

300 to 500. As a result of this equilibrium level

of income increase by 2000. Calculate the

marginal prepensity to consume.

Watch Video Solution

20. In an economy, level of income is ₹ 2000

crore and MPC= 0.75. Calculate total income if

investment is increased by ₹ 200 crore.

Watch Video Solution

https://dl.doubtnut.com/l/_8L4SwARFoU6Y
https://dl.doubtnut.com/l/_MslWDomYmksf
https://dl.doubtnut.com/l/_kd3vJrWxbAGd


21. In an economy, the actual level of income is

₹ 500 crores whereas full employment of Y is ₹

800 crore. MPC = 0.75. Calculate how much

change in investment is required to achive full

employment level in the economy.

Watch Video Solution

22. In an economy, 20 % of increasec income is

saved. How much will be the increase in

https://dl.doubtnut.com/l/_kd3vJrWxbAGd
https://dl.doubtnut.com/l/_6n5GqARtq8Qk
https://dl.doubtnut.com/l/_p5CosQo98XM4


income if investment rises by 10, 000 ?

Calculate.

Watch Video Solution

23. An economy is in equilibrium MPC, National

income=1000, Autonomous consumption

expenditure=200, Investment expenditure=100.

View Text Solution

https://dl.doubtnut.com/l/_p5CosQo98XM4
https://dl.doubtnut.com/l/_jjz1D3dUdOzs


Recapitulate

24. An economy is in equilibrium, Find

investment expenditure : National

income=1200, Autonomous consumption

expenditure=150, MPC=0.8

Watch Video Solution

1. If the consuption function in an economy is

C=50+0.75Y` and the autonomous investmenet

https://dl.doubtnut.com/l/_HWKxFxwMwhby
https://dl.doubtnut.com/l/_HsoECcC8uFJa


is 30 crore, calculate the equilibrium level of

income.

Watch Video Solution

2. Given that the saving function is

S=-50+0.80Y and the investment 110 crore.

Calculate the equilibrium level of income.

Watch Video Solution

https://dl.doubtnut.com/l/_HsoECcC8uFJa
https://dl.doubtnut.com/l/_EFSCNfAqLHhp


3. The economy attains equilibrium at a point

where the saving curve intersects the

investment curve.

View Text Solution

4. Multiplier is the ratio of the increase in

income to a given increase in investment

View Text Solution

https://dl.doubtnut.com/l/_Qdgk8R4C54lT
https://dl.doubtnut.com/l/_EdpqFc6MDfdk


Mcq

5. Under employment equilibrium is a

situation where the aggregate demand is

equal to aggreagate supply when the

resources are not fully employed.

View Text Solution

1. The equilibrium level of income is

determined where planned aggregate demand

https://dl.doubtnut.com/l/_ClZmSAxbRhjL
https://dl.doubtnut.com/l/_TMYiIp4gsTt5


is equal to

A. planned consumption

B. planned aggregate supply

C. planned investment

D. none of these

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_TMYiIp4gsTt5


2. Equilibrium level of income can be

determined at

A. full employment

B. under full employment

C. over full employment

D. all of these

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_VxhWOg22KvaV
https://dl.doubtnut.com/l/_1zueJTvdMMHN


3. At higher level of MPC, the value of

multiplier is

A. high

B. low

C. does not change

D. all of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1zueJTvdMMHN


4. Multiplier ist he ratio of increase in income

to a given increase in

A. supply

B. demand

C. investment

D. capital stock

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dHiGvSiqtXU7
https://dl.doubtnut.com/l/_Wd7fWR8f7X3I


5. If change in investment is 1000 and MPC is

0.8, then income will change by

A. 1250

B. 2500

C. 5000

D. 10000

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Wd7fWR8f7X3I


6. If MPS is 0.8 and increase in investment in

10000, national income will increase by.

A. 5000

B. 25000

C. 12500

D. 100000

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jl4grgeKeECX
https://dl.doubtnut.com/l/_hslmGDUo2VMB


Objective

7. If MPC is greater than MPS, the value of

multiplier will be

View Text Solution

8. In an increase of 10000 in investment in an

economy results in an increase in income of

40000, what will be MPS.

Watch Video Solution

https://dl.doubtnut.com/l/_hslmGDUo2VMB
https://dl.doubtnut.com/l/_VvUXbnDDypiR


1. What is full employment equilibrium ?

Watch Video Solution

2. How is multiplier related with MPC?

Watch Video Solution

3. Give the two approaches for determining

equilibrium.

View Text Solution

https://dl.doubtnut.com/l/_8nqmmti2zb7L
https://dl.doubtnut.com/l/_gZrJX1sdwwnM
https://dl.doubtnut.com/l/_bovfFB9GAXPL


4. How is multiplier related with MPS ?

Watch Video Solution

5. Define under-employment equilibrium

Watch Video Solution

6. How does multiplier work ?

View Text Solution

https://dl.doubtnut.com/l/_bovfFB9GAXPL
https://dl.doubtnut.com/l/_qy44fQdqJkrB
https://dl.doubtnut.com/l/_XgdWLi6CF3tU
https://dl.doubtnut.com/l/_nQFSnE7bxjod


Conceptual Questions

7. What is over full employment cquilibrium ?

View Text Solution

1. What is meant by equilibrium ?

View Text Solution

https://dl.doubtnut.com/l/_nQFSnE7bxjod
https://dl.doubtnut.com/l/_f8UcxV7CrwcZ
https://dl.doubtnut.com/l/_TFukJFDRh6te


2. What is mulliplier?

Watch Video Solution

3. How is classical concept of AS different from

Keynesian concept of AS?

View Text Solution

4. What is meant by effective demand ?

View Text Solution

https://dl.doubtnut.com/l/_mY7v99kWQYe6
https://dl.doubtnut.com/l/_zag2zu6syZz1
https://dl.doubtnut.com/l/_ybtV2lBQYu9O


High Order Thinking Skiils

5. What is equilibrium income?

View Text Solution

6. Differentiate between full employment and

under-employment equilibrium.

View Text Solution

https://dl.doubtnut.com/l/_ybtV2lBQYu9O
https://dl.doubtnut.com/l/_eT0egeK5tfQo
https://dl.doubtnut.com/l/_D0wzgmbrkp0o
https://dl.doubtnut.com/l/_ExLHi3jVnIs8


1. Discuss the impact of injections and

leakages (or withdrawals) on the level of

equilibrium.

View Text Solution

2. Explain 'paradlox of thrift'.

View Text Solution

https://dl.doubtnut.com/l/_ExLHi3jVnIs8
https://dl.doubtnut.com/l/_roW0e4vs9FXd


3. (a) Can an economy be in state of under

employment equilibrium ? Use diagram. 

(b) Why do we say that an economy generaly

functions at less than full employment level ?

Is it justified?

View Text Solution

4. Can we think that classical belief can help in

functioing of our economy ?

View Text Solution

https://dl.doubtnut.com/l/_4PQhDp98xxY1
https://dl.doubtnut.com/l/_Qd5LldEgQXQL


Guidelines To Ncert

1. Measure the level of ex-ante aggregate

demand when autonomous investment and

consumption expenditure (A) is 50 crore, and

MPS is 0.2 and level of income (Y) is Rs.4000

crore. State whether the economy is in

equilibrium or not (cite reasons)

View Text Solution

https://dl.doubtnut.com/l/_Qd5LldEgQXQL
https://dl.doubtnut.com/l/_XfOquNJ79fmQ


Exercises

2. Measure ex-ante AD, when autonomous

investement and consumption expenditure (A)

is 50crore, and MPS is 0.2 and level of income

is 300crores.

View Text Solution

1. In an Economy , Investment increases by 300

crores due to which National Income increases

https://dl.doubtnut.com/l/_2ihCrbyypnGd
https://dl.doubtnut.com/l/_g9hLqOkIiUbD


by 1800 crores. Calculate MPC ?

Watch Video Solution

2. A 400 crore increase in investment leads to

a rise in National Income by 1000 crores.

Calculate MPS ?

Watch Video Solution

3. Define the term multiplier. How do we

measure it ?

https://dl.doubtnut.com/l/_g9hLqOkIiUbD
https://dl.doubtnut.com/l/_Ke8ABKlCbRFB
https://dl.doubtnut.com/l/_f5XFFHGFhuBZ


Watch Video Solution

4. In an Economy , Investment rises by 500

crores. If MPC is 0.6 , By how much amount

National Income will rise ?

Watch Video Solution

5. How is multiplier related to MPC and MPS ?

Watch Video Solution

https://dl.doubtnut.com/l/_f5XFFHGFhuBZ
https://dl.doubtnut.com/l/_HMT4EBBX7eDj
https://dl.doubtnut.com/l/_sFpZXwphiO3f
https://dl.doubtnut.com/l/_Yl2YhAT1AXmH


6. What is the minimum value of multiplier ?

Watch Video Solution

7. What is the maximum value of multiplier ?

Watch Video Solution

8. If the marginal propensity to save is 0.1,

calculate the value of the multiplier.

Watch Video Solution

https://dl.doubtnut.com/l/_Yl2YhAT1AXmH
https://dl.doubtnut.com/l/_r4nneOYNfcSe
https://dl.doubtnut.com/l/_rCX7jCgoMm6Y


9. If MPC is 0.6 , what is the value of the

multiplier ?

Watch Video Solution

10. An increase of 100 crore in investment

leads to a rise of 500 crores in the national

income. Calculate the value of multiplier .

Watch Video Solution

https://dl.doubtnut.com/l/_rCX7jCgoMm6Y
https://dl.doubtnut.com/l/_24PNhYhTB2vg
https://dl.doubtnut.com/l/_fP74r43F3eCJ
https://dl.doubtnut.com/l/_Rf61MywmLV9S


11. If the value of MPS is 0.25, what is value of

multiplier ?

Watch Video Solution

12. If the value of MPS is 0.2, what is the value

of multiplier ?

Watch Video Solution

13. If MPS is 0.1, calculate the value of

multiplier.

https://dl.doubtnut.com/l/_Rf61MywmLV9S
https://dl.doubtnut.com/l/_mF8tdh9jhfh1
https://dl.doubtnut.com/l/_Tr7W2QH0COBz


Watch Video Solution

14. If the value of MPC is 0.9, find the value of

multiplier.

Watch Video Solution

15. An increase in investment in a country

leads to increase in national income by Rs.200

crore. If marginal propensity to consume is

0.75, what is the increase in investment ?

https://dl.doubtnut.com/l/_Tr7W2QH0COBz
https://dl.doubtnut.com/l/_rv55WsVSLioy
https://dl.doubtnut.com/l/_S9ZIf3STXNr5


Watch Video Solution

16. A 200 crore increase in investment leads to

a rise in national income by 1000 crore. Find

out marginal propensity to consume.

Watch Video Solution

17. Given increase in investment of 100 crore

and marginal propensity to consume equal to

0.8. Find out increase in national income.

Watch Video Solution

https://dl.doubtnut.com/l/_S9ZIf3STXNr5
https://dl.doubtnut.com/l/_rz1OpXjNbTMI
https://dl.doubtnut.com/l/_JyUZQmCn0f2z


18. If increase in investment is Rs.125 crore,

national income of a country increases by 500

crore. Calculate marginal propensity to save.

Watch Video Solution

19. In an economy, investment increases by 120

crore. The value of investment multiplier is 4.

Calculate the marginal propensity to consume.

Watch Video Solution

https://dl.doubtnut.com/l/_JyUZQmCn0f2z
https://dl.doubtnut.com/l/_944rK2JmMOZU
https://dl.doubtnut.com/l/_De1kzpqJehut


20. In an economy, investment increases by

Rs.120 crore. The value of investment

multiplier is 4. Calculate the marginal

propensity to consume.

Watch Video Solution

21. In an economy, investment expenditure is

increased by 400 crore and marginal

propensity to consume is 0.8. Calculate the

total increase in income and savings.

https://dl.doubtnut.com/l/_De1kzpqJehut
https://dl.doubtnut.com/l/_tSUm1Uys877Z
https://dl.doubtnut.com/l/_EB6xZ5CViOsE


Short Answer

Watch Video Solution

22. In an economy, investment increases by

600 crore. If marginal propensity to consume

is 0.7. What is the increase in total national

income?

Watch Video Solution

https://dl.doubtnut.com/l/_EB6xZ5CViOsE
https://dl.doubtnut.com/l/_eYP2fAeZnyPl


1. Explain the meaning of investment

multiplier. What can be its minimum value and

why

Watch Video Solution

2. In an economy an increase in investment

than the increase national income which is

three times more than the increase in

investmebt. Calculate MPC.

Watch Video Solution

https://dl.doubtnut.com/l/_9EBV3I31r1yO
https://dl.doubtnut.com/l/_MllskOgxXtMR


Unsolved Numericals

3. Explain the relationship between nvestment

multiplier and MPC.

Watch Video Solution

1. An increase in investment by 800 crore leads

to increase in national income by 2400 crore.

Calculate MPC...

Watch Video Solution

https://dl.doubtnut.com/l/_MllskOgxXtMR
https://dl.doubtnut.com/l/_2LfFpWq9jQQN
https://dl.doubtnut.com/l/_CGPUpDdz0uj5


2. If MPS 0.2 how much new investment is

required to make the national income rise by

600 crores ? Explain.

Watch Video Solution

3. Given MPS equal to 0.75. What will be the

increase in national income, if investment

increases by 125 crore ? Calculate.

Watch Video Solution

https://dl.doubtnut.com/l/_CGPUpDdz0uj5
https://dl.doubtnut.com/l/_a10qwaGcSSxH
https://dl.doubtnut.com/l/_N0f5Li39tbBM


4. If MPC is 0.9. What is the value of multiplier?

How much investment is needed to increase

national income by 5000 crore ? Calculate.

Watch Video Solution

5. It is planned to increase national income by

1000 crore. Calculate, how much increase in

investment is required to achieve this goal.

Assume that MPC is 0.6.

https://dl.doubtnut.com/l/_N0f5Li39tbBM
https://dl.doubtnut.com/l/_pMw1IrgOAi3L
https://dl.doubtnut.com/l/_uFBpJswq0v9l


Watch Video Solution

6. As a result of increase in investment by 125

crore, national income increases by 500 crore.

Calculate MPC

Watch Video Solution

7. If MPC =0.5, find change in income, if

investment increases by 400 crore.

Watch Video Solution

https://dl.doubtnut.com/l/_uFBpJswq0v9l
https://dl.doubtnut.com/l/_qRXALtYDttXQ
https://dl.doubtnut.com/l/_MLt5gCqtGaVG


8. As a result of increase in investment by

Rs.60 crore, national income rises by 240 crore.

Calculate Marginal propensity to consume

Watch Video Solution

9. In an economy, MPC is 0.75. Investment

expenditure increases by 75 crore, calculate

total increase in national income.

Watch Video Solution

https://dl.doubtnut.com/l/_3Q5RFhbtSp1K
https://dl.doubtnut.com/l/_P0LkOTKZlbzz
https://dl.doubtnut.com/l/_Xkh8ZKdCZrTv


10. In an economy, MPS= 0.4. National income

increases by 200 crore as a result of change in

investment. Calculate the change in

investment.

Watch Video Solution

11. In an economy, C = 300 + 0.8 Y and I= 500 ..

Calculate the following : 

( i) Equilibrium level of income 

(ii) Consumption expenditure at equilibrium

level of income.

https://dl.doubtnut.com/l/_Xkh8ZKdCZrTv
https://dl.doubtnut.com/l/_RLFhGw0YUGfE


Watch Video Solution

12. In an economy, C = 100 + 0.9Y and J= 700.

Calculate the following : 

(i) Equilibrium level of income 

(ii) Consumption expenditure at equilibrium

level of income.

Watch Video Solution

https://dl.doubtnut.com/l/_RLFhGw0YUGfE
https://dl.doubtnut.com/l/_ru6N68ry7E1P


13. In an economy, every time income rises,

75% of the rise in income is spent on

consumption. Now suppose in the same

economy investment rises by 

Calculate the following : 

(i) Change in income 

(ii) Change in saving

View Text Solution

https://dl.doubtnut.com/l/_RRYYC1CfMQgX


14. In an economy with every increase in

income 15% of the increased income is saved.

Suppose a fresh investment of 600 crore takes

place in the economy, 

calculate the following: 

(1) Change in income 

(ii) Change in consumption.

Watch Video Solution

https://dl.doubtnut.com/l/_NxoTB9uvGUNg


15. In an economy C=500 + 0.9Y and I= 1000, 

Find (i) equilibrium level of income 

(ii) consumption at equilibrium.

Watch Video Solution

16. From the data given below about ·an

economy calculate: 

(a) Investment-expenditure 

(b) Consumption expenditure 

(i) Equilibrium level of income 5000 

https://dl.doubtnut.com/l/_BqbyA3Jz93qv
https://dl.doubtnut.com/l/_5smny0IhtdjC


(ii) Autonomous consumption 500 

(iii) Marginal propensity to consume 0.4

Watch Video Solution

17. In an economy C=200 +0.75Y is the

consumption function where C is consumption

expenditure national income. Investment

expenditure is 5000. Calculate equilibrium

level of income consumption expenditure.

Watch Video Solution

https://dl.doubtnut.com/l/_5smny0IhtdjC
https://dl.doubtnut.com/l/_qjklqa4UQWT2
https://dl.doubtnut.com/l/_7B91Lm4A46Rf


18. From the following data about an economy,

calculate (a) equilibrium level of national

income and (b) total consumption expenditure

at equilibrium level of national income. 

(i) C =200 +0.5Y 

(ii) Investment expenditure is 1500

Watch Video Solution

19. C= 100 + 0.4Y is the consumption function

of an economy where C is consumption

expenditure and Y is National Income.

https://dl.doubtnut.com/l/_7B91Lm4A46Rf
https://dl.doubtnut.com/l/_Id9rVj9iVOkk


Investment expenditure is 2000. Calculate (i)

Equilibrium level of National Income (ii)

Consumption expenditure at equilibrium level

of National Income.

Watch Video Solution

20. Calculate MPC from the following data

about an economy which is in equilibrium :

National income =1500, autonomous

consumption expenditure, investment

expenditure =300.

https://dl.doubtnut.com/l/_Id9rVj9iVOkk
https://dl.doubtnut.com/l/_8xnndB1CYuPx


Watch Video Solution

21. Calculate investment expenditure from the

following data about an economy which is in

equilibrium national income = 700, MPC = 0.8,

autonomous consumption expenditure = 70.

Watch Video Solution

22. Calculate autonomous consumption

expenditure from the following data about an

economy which is in equilibrium : National

https://dl.doubtnut.com/l/_8xnndB1CYuPx
https://dl.doubtnut.com/l/_f3Gs2dQ3BoUL
https://dl.doubtnut.com/l/_c39nZaWfbV6o


income = 2400, MPS= 0.4, investment

expenditure = 200

Watch Video Solution

23. Calculate consumption expenditure from

the following data about an economy which is

in equ1libnum : National income=900, MPS=

0.10, investment expenditure=80.

Watch Video Solution

https://dl.doubtnut.com/l/_c39nZaWfbV6o
https://dl.doubtnut.com/l/_zWXYqe3h4S2H


24. An economy is in equilibrium. Calculate the

inveshnent expenditure from the following :

National income = 1000,MPS= 0.3 ,

Autonomous consumption= 100.

Watch Video Solution

25. An economy is in equilibrium. Calculate

MPS from the following: National income=

1000, Autonomous

consumption=100,Investment=120.

https://dl.doubtnut.com/l/_grmMLbhYVlMe
https://dl.doubtnut.com/l/_uXXfog8SGR0C


Watch Video Solution

26. An economy is in equilibrium. Calculate the

National Income from the following :

Autonomous consumption = 120, Marginal

propensity to save=0.2, Investment

expenditure = 15

Watch Video Solution

27. In an economy investment is increased by

Rs. 400 crore. If  calculate increaseMPC =
2

3

https://dl.doubtnut.com/l/_uXXfog8SGR0C
https://dl.doubtnut.com/l/_S50fMf0xnxZ8
https://dl.doubtnut.com/l/_9z3xMlw4PfM5


in National income.

Watch Video Solution

28. Suppose MPC is 0.8. How much increase in

investment is required to increase National

income by 2000 crore. Calculate.

Watch Video Solution

29. An economy is in equilibrium. Find MPC.

Autonomous consumption expenditure = 100 ,

https://dl.doubtnut.com/l/_9z3xMlw4PfM5
https://dl.doubtnut.com/l/_IKQwp4BrH6PB
https://dl.doubtnut.com/l/_YK2W3AGKhJu5


Investment expenditure=100 National

income=2000.

Watch Video Solution

30. An economy is in equilibrium. Find

investment expenditure. National income =

1000, Autonomous consumption = 100, MPC=0

Watch Video Solution

https://dl.doubtnut.com/l/_YK2W3AGKhJu5
https://dl.doubtnut.com/l/_YW333IEudmum


31. An economy is in equilibrium. From the

following data calculate autonomous

consumption. (i) Income = 10,000 (ii) MPS = 0.2

(iii) Investment 1500

Watch Video Solution

https://dl.doubtnut.com/l/_3WOiMNQr6imG

